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CMELIM®IKALLIS BigomicTb getanen
Mapka . . | Maca . Mo3 Ecki3
no3. [Mo3Ha4YeHHSA HanmeHyBaHHS Kin. ofl. Kr MpumiTKN
NICB Ha nosH.+15.000+18.000 LT
gl €
1 OCTY 3760:2006 ®16  A500C I=3600 488 | 5.69 2775.7 «kr 5 L o\\)
o
2 OCTY 3760:2006 ®10  A500C I=6460 26 3.98 103.6 «kr
%
3 OCTY 3760:2006 ®10  A500C I=660 29 0.41 11.8  «r 5 ¢ _
4 OCTY 3760:2006 ®8 A500C =220 558 | 0.09 48.5 «kr
e
5 ACTY 3760:2006 8  A500C  I=1080 120 | 043 | 512 «r . mev 2
— (3
6 OCTY 3760:2006 ®10  A500C I=3030 68 1.87 1271 «r ~ >
7 OCTY 3760:2006 ®10  A500C I=2180 78 1.34 104.9 «r +1—8+20
i
8 OCTY 3760:2006 ®8 A500C =640 165 | 0.25 41.7  xr 9 g§
\\72
— 9 OCTY 3760:2006 8 A500C =610 10 0.24 24 Kr
81
10 OCTY 3760:2006 ® 10  A500C I=1830 18 1.13 20.3  «kr 10 _
11 OCTY 3760:2006 ®10  A500C =570 42 0.35 148 «r
12 OCTY 3760:2006 ® 10  A500C I=1060 26 0.65 17.0 «r
13 OCTY 3760:2006 ®10  A500C I=2030 26 1.25 326 «kr BigoMmicTb BUTpAT cTani, Kr
14 OCTY 3760:2006 ® 10  A500C I=1130 26 0.70 18.1  «r -
Bupobu apmatypHi
15 OCTY 3760:2006 ®10  A500C I=1650 22 1.02 224  «xr
Apmatypa knacy
16 OCTY 3760:2006 ® 10  A500C I=3820 26 2.36 61.3 «kr
Mapka A500C
° 17 ACTY 3760:2006 ®10 A500C  |=870 22 | 054 | 118 «r enemeHTa Bcboro
Ei AOCTY 3760-98
8 18 OCTY 3760:2006 ®10  A500C I=8080 56 4.99 279.2  «kr
S 06 | 8 | 010 | 812 | @14 | 016 | Pasom
P 19 OCTY 3760:2006 ®10  A500C I=5930 6 3.67 220 «kr
Ol 4 NCE wa nosu. +15.000 +18.000 0.0 143.8 862.2 0.0 0.0 2775.7 3781.7 3781.7
S 20 OCTY 3760:2006 ®10  A500C I=3110 8 1.93 154  «r
=
. 3781.8 «r
=
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